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> X=2.6iy= —2.60 >> R=Z.8:y= -2.6; »>» isprime (3)
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e dsae gl Cua o ((Gleadd)asdl salal) & cldgiiadll L....u\u
& A8 ye alE V) (e Ao gana & (Alaa¥) L) 13k stig.ujm\u
bl g il glaall (A0 sa Gl ghiaall Cilaladiul aal O

¢ leaiall 2l Aalal il hiad) Jia L Wle « duxiglly bl a0
ld el Jidi Lo Wlle alas) A0 uujm\j

Leiatlas g UL 3 ASIMATLAB 4oy Ls.u\.ua\ & A Baadd

b b ghadll 0S8 ) oS ¢ euj\ e A Sl il gdiaall ) dilayL
NEN IO W 1| Py s a YL 4l LaMATLAB




(Clgaiall) 2zl galal 48 giinn L)

Ay yall (l BY1 A1 (A1) aaliad) AU, dniall L) oy
]

* varliable name = | type vector
elements ]

uudm\ﬁ}\c\ﬁm‘gjmbﬂ\u&@mmA¢wy o
Ax el Gl Y JANY JAl g puaie

Al paie Gu Al paliall QIS5 L ¢ g3 gee anta cLIY e
gl s sl AUSy ) Ay pall Gl Y1 Jaa ;A gt 5 ) )
JS 2Enter C\;'\éA e bral 5 paliall daq\ ‘:u] )uz,f)?\
) emiall my [ el e sEl) () 5 i



(sa 4aia elad) §2 548 Ania oL

= me— 235062 T]

Command Window

> ¥=[2 4 5 & 7]

<@k M

= o om—= 2

== x=[2,4,5,6,7]

I R T



(Clgaiall) 2zl galal 48 gaian o L)

paliall G 3 all 565 ¢ Gl ae il Gl Gilgatall (8 e
v=246810 4aidl ¢ Ul Jus o audi s
a8 OsS aaie 2 s palikll o gunoaelall
JAAY\ J.ualaj‘j «q jAJ.c\_\.d e ¥eem d}ij\ palizll

LS Gab e o3l o Cusan s
* variable name = [m:qg:n]

* varliable name = m:qg:n



>> x=[1:2:13] [ First element 1, spacing 2, last element 13.]

x —
1 3 5 7 9 11 13
>> y=[1.5:0.1:2.1] [ First element 1.5, spacing 0.1, last element 2.1. ]
y —
1.5000 1.6000 1.7000 1.8000 1.9000 2.0000 2.1000
>> z=[-3:7] First element —3. last term 7.
If spacing 1s omitted, the default is 1.
z p—
-3 -2 -1 0 1 2 3 4 5 6
7
>> xa=[21:-3:6] [ First element 21, spacing —3, last term 6. ]
Xa =
21 18 15 12 9 6

>>



(Array(Matrix)) 2ty 455 48 hina L5
e Y] o giall 48 giinall

L;A i il Jie la glaadl o A8 Gl gaiall e\m\ CSa
J gl

é eda.\.uuj G.L:;J\ ).mj\ Lﬁ LA.@.A \JJJ u\ﬁM\ t_\:JJ
uu,m\uuﬂsx\wmﬂ\um;mm@\wgg\

3lac Yl dae g Cagiiall dae 5o ¢ da gl Adaiadll

LA.:: \ALMOMQY\juM\JJQUJSJu\uSAJ LcdS...u
26 14 18 5 30 148 gdiaall « d\_ﬂ\d&.ﬂ

51 20 11 43 65 4 x 6 matrix
6 15 61 34 22
58 6 36 93 7

Lad

— 2
= o0 W) =



Glay s e e ny Caghiall o m o A8 hiadl g giaT e
A8 giadll aaamxn e

palic cudl o) el Gk e Adgadl eLA) S e
e ) dbsnd]

raie Om dhady) Ciia 2y Coia ¢ pallall 40K Sl oG o
Jaly ¢ (Aalde) 3B o Adliw aall)l Caall e JA
A stie dlald AT Caia (g diady Cua [] 4 e ool S

variable name=[lst row elements;

2nd row elements; 3rdrow elements;
; last row elements]

) A0 A8 gheaall o) daiall delia Leay) e
dlsp (V) J\:u\ e\m\q



>> a=[5 3

5

43; 4 76 81; 21 32 40]

5 35 43 A semicolon 1s typed before
4 76 81 a new line 1s entered.
21 32 40
>b=1[7 2 76 33 8 w-— T —
1 98 € 25 & The Enter LE‘}: 15 PIE‘SSEd
5 54 68 9 O] before a new line 1s entered. f
b =
7 2 76 33 8
1 98 6 25 6
5 54 68 9 0
>> cd=6; e=3; h=4; "l—[ Three variables are defined. ]
>> Mat=[e, cd*h, cos(pi/3); h*2, sgrt(h*h/cd), 14]
Mat = —
16.0000 1.6330 14.0000 o e

>>

exXpressions.




(250 i) cuall B dridaga b Adia B pals Glgis .
[JGa k poiagall B painll Jy(k) sdy v oomall Apiall dpdly o
>>v=[35 46 78 23 5 14 81 3 55]
V=
35 46 78 23 5 14 81 3 55
>>v(4)
ans =
23
>>V(7)
ans =
81
>> V(1)
ans =
35
Lﬁ&uﬂlae.u umu\ydomnwumd)awm&bﬁhujaswﬁuu&d\w .
1ot ALY | ) sl A e dal g pale aladial Uyl ¢Sav (K) = value.
>> v(4)=2
V=
35 46 78 2 5 14 81 3 55



>> VCT=[35 46 78 23

VCT =
35 46 78

>> VCT (4)

ans =

23
>> VCT (6)=273

VCT =
35 46 78

>> VCT (2) +VCT (8)
ans =

49

5 14 81 3 55]

- [ Define a vector. ]

23 5 14 81 3 55

— .
| Display the fourth elemeut.l

Assign a new value to
o | the sixth element.

[ The whole vector 1s displayed. |
23 5 273 81 3 55

Use the vector elements in
mathematical expressions.

>> VCT (5) *VCT (8) +sgqrt (VCT (7))

ans =
134
>>



cﬁwj.euj\ dan g_q.;aj\@)...a.ud\ ) im ¢ma(m,n) J¥ «ma Mﬁ\
J gazll

>>ma=[235;689;084]

ma =
2 3 5
6 8 9
0 8 4
>>ma(2,2)
ans =
8
>>ma(3,1)
ans =
0

daly paie aladial Lyl ¢Sama (M,n) = value. :4US; ¢lld oy Gura () giad Basaa dad G PIA (1 48 gleaall Lith aal g pais (o) dad il (Saall (1

oo LY by, il b s
>>ma(2,3)=15

Mma =

O ON
coO 00O W
=
B GHWU



>> MAT=[3 11 6 5; 4 7 10 2; 13 9 0 8] [E‘reatea 3x41113t1‘i};.]

3 11 6 5
4 7 10 2
13 9 0 8
>> MAT (3,1)=20 [Assign a new value to the (3,1) element. ]
MAT =
3 11 6 5
4 7 10 2
20 9 0 8
>> MAT (2,4)-MAT(1,2) Use elements in a mathematical expression.
ans =

-9



:EJ.A\ o S‘ ....~I ~'.S‘ ‘;‘ . o ‘

Do de sene Aallaal sadaiall okl dlaiil (S o
A8 ghing gl datia 4 ypaliall

. L] +51 "|+" 51
(2548 4aa gl ilea daia Lal) va dniall sealie gran ) sy va(x) | Vactor
_ ya ‘aidin Jm e salall Jl jady va(m:n)
A ddphaddl o n dgandl digha g Aigagadl salall )l | A(D)
A A8 shiaddls n ciaall Baas] gan 8 53 5a gall sualiall I jude A(n,:) | Array

A Adgiad Gap g m S Y) (n Cigheall e & gualiall ) sude | AG,mzD)

A d8ghaal Gam s m sheall iVl giaa B paliall ) pdi | A(m:n,)
Al p o 3285 m H m Ge shaall 23252 pall aliall ) sl | A(minp:q)
A 48siaall (e g




>> A=[1 3 5 7 9 11; 2 4 6 8 10 12; 3 6 9 12 15 18; 4 8 12 16
20 24; 5 10 15 20 25 30]

Define a matrix & with
5 rows and 6 columns.

A =
1 3 5 7 9 11
2 4 6 8 10 12
3 6 9 12 15 18 Define a column
4 8 12 16 20 24 vector B from the
5 10 15 20 25 30

elements 1n all of the
>> B=A(:,3) | rows of column 3 in
matrix 4.

B —
5
s
k=]
12
15 ‘ Define a row wvector C from the
>> C=RA(2,:) g elements in all of the colummns of
o = ‘ row 2 in matrix &,
=2 4 & = 10 iz
>> E=A(2:4, :) el | Define a matrix E from the ele-
E — ments in rows 2 through 4 and all
- - = : - - the colunms in matrix 2.
3 L L= iz 15 ie
4 a8 iz 16 20 24
>> F=A(l:3,2:4) e |l Create a matrix F from the elements
T in rows 1 thorough 3 and columns 2
2 5 - through 4 in matrix 2.
4 L= 2
=] b= iz

>



Thank yov g
Jor
“".'Gﬂwa. ’t
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:(Transpose) sxill aladiuly s 48 dian o) 4atia L) o

>>x=[1 2 4];
>> y=X'
y =

1

2

A
>>a=[12;3 4],
>> b=3a'
b =

1 3
2 4



a4l g Lala) 48 ghaall jualial) Cida

2sage priad paliall (e Ao gena ol pale (Bl (Sa
AR 2hy el w3 el ) el ddle) Gk e
o lagin o o) ALK axe ae Ay pall (ol Y aladiinly
%MJM‘M‘J’%Q&‘JMM‘Q'&&%
A 48 sainall 14 mM\uh@uA(m )=[]
A MM\ c»nNn JJA:J‘ 8da u_u_\ A(:’n):::




>> kt=[2 8 40 65 3 55 23 15 75 80]

Define a vector I

kt = with 10 elements.
2 8 40 65 3 55 23 15 75 80
>> kt(6)=[] - [ Eliminate the 6th element. |
kt = The vector now
2 B 40 &5 3 23 15 785 B8O
has 9 elements.
>> kt(3:6)=[] -€ [ Eliminate elements 3 through 6.
kt =

2 8 15 75 80 [Tlle vector now has 5 elements. }
>> mtr=[5 78 4 24 9; 4 0 36 60 12; 56 13 5 89 3]

[ Define a 3 x 5 matrx. J

mtr =
= 78 4 24 ]
4 0 36 60 12
56 13 5 8% 3
>> mtr(:,2:4)=[] - | Eliminate all the rows of
mtr = columns 2 through 4.
5 2
4 12
56 3

>>



zeall Alany A simn 5) yia 4nde sLa JISYIL o
>>x=[1 2 4];
>>y=[3 6 9];
>> z7=[X V]

1 2 4 3 6 9
(S sae Anta eIV X,y Oneaiell zady 28 [y s
>>a=[1 2,3 4];
>> b=[3 5;8 0];
>> c=[a b]
C =
1 2 3 5
3 4 8 O
Dol () dasia 4x2 48 ghias A5 g,b (188 sanl) alasiuly /o e



5 s g0 dd siaa ) Baac Yl 5l [ 5 Casiiall dilia) (Say o
OSay puaall saac Yl ol Cogiiall ad (paat 55k (e
Ball sk oo sl B Al s (ke e el Ll
anas Y Al Gl oy o sy 30 g sl ol ppaiall
MM‘&AW\_\.\J u\c_\;ad\ﬁha.d\ e Y| j 8 sl
(D ALY 32 s gall

>> E=[1 2 3 4; 5 6 7 8]  Define a 2 x 4 matrix E. |
E =
1 2 3 4
5 6 7 8
>> E(3,:)=[10:4:22] Add the vector 10 14 18 22
as the third row of E.
E =
1 2 3 4
5 6 7 B



>>
AW

>>
AW

>>
BG

>

AW=[3 6 9;
3 6
8 5
AW (4,5)=17
3 6
g 5
0 0
0 0
BG(3,4)=15
0 0
0 0
0 0

g8 5 11] [ Define a 2 = 3 matrx.

o

11

: Assign a value to the (4.5) element.
g g MATLAB changes the matrix size
- - to 4 x5, and assigns zeros to the
0 17 new elements.

[ Assign a value to the (3.4) element of a new matrix.

MATLAB creates a 3 *x 4 matnx

0
0 and assigns zeros to all the ele-
15 ments except BG(3.4).

i




gisall b A B siadl b jsic Aa¥ s half=A(m,n) S
LelalSy 48 gaadll Hlelal oo full=A Sla¥) Wiy (m,n)

>>A=[123;452;709]
A =

N b e
o wun N

3

2

9
>> half=A(3,1)
half =

7

>> full=A
full =

<N DR
o N
O N W



3 yaall 22=l) 5 48 gaimall yu dnbiad) Glalaall

hg@\ﬁ&@ggﬁjaﬂ\ JM\%M\JQJ&UCJH\J&U'AY\@MS@M\QQM\QAJ.A.M\ Y

>>a=[1 2;3 4];
>> 2+a

ans =
3 4
5 6
>> 2%*a-1
ans =
1 3
5 7
>>2*a/5+1
ans =

1.4000 1.8000
2.2000 2.6000
>> 2-a

ans =

1 0

-1 -2



8 gdimall o Anlaadl llaall

Gl simn = pha g ALY dnloall Gbleal) aladtio) (Ko o
(e V) 5 8 gaall 2o yuai) Jilada ana Gl
4 = Fu-ﬂllz -413} and B — {311313 313}
Ay Ay Ao By Bx By
LAJLASD)\.C\ O g8un 4l cA;ujS.\

Il.rf.ll +E”] (:‘111+Bu] [.:'113+B]_3:|
'l.:'f.:l +E:1] (:‘1:1+sz] [.:'113+sz:|



-

>> VectA=[8 5 4]; VectB=[10 2 7]; | Define two vectors.

> VectC=VecthAt+VecotB |
= = = Define a vector VectC that
VectC = 1s equal to Vecth + VectB.

18 7 11
»>>» BA=[5 -3 B; 9 2 10]

A =
5 -3 8

9 2 10 | Define two 2 x 3 matrices & and B _|

_'—'—'_'_'_'_
>> B=[10 7 4; -11 15 1] &
B =
10 7 4
-11 15 1
>> A-B | Subtracting matrix B from matrix &
ans =
-5 -10 4
20 -13 9
>> C=A+B [ Define a matrix C that 1s equal to & + B. ]
=
15 4 12
. 17 11
»> VecthA+h Trying to add arrays of different size. ]
?27? Error using ==> plus - . )
Matrix dimensions must agree. [ An error message 1s dlSplﬁ‘j.-'-E‘d. )

>



o) gl W MATLAB  ddawl g * o piall ddee 285 a1 o
D ¢ 8 s8inaB GA m&\s\u\@um LS.LSS‘),\;J

>

b odaeY) e S A YIA ¥ B Acleall MW Sy

>

daiiill B 48 gaiaall A& 8 giall 2o (5 b MM\
e i A S Stiall (e 20al) ush Ll 48 giaa o
B Jie 520 Y!

Ay A A

By B
4= 2424y and B = |, B,
A3y Az A3z 5 / ) \5:\“ leA:.
. B, B T *
Agp Ap Ay o -

then the matrix that 1s obtained with the operation .4*B has dimensions 4 = 2 with
the elements:

(A1 By +ApBy +4385) (A Bp+dpBy+4,385)
(dyByy + ApBy +Ay3B3) (A Bp+dypByn+4,Bs))
(A3 By + A3By) + A5383) (A3 B+ A58y +43385)
(g By +ApBy +AdgBy) (AgBp+AdypBy +448y)

A numerical example 1s:
14354 (1-5+4-1+3-2(1-4+4-3+3-6) 15 34
26113 = |(2-5+6-1+1-2)(2-446-3+1-06) = |18 32
528|206 (5-5+2-1+8-2)(5-4+2-3+8-6) 43 74



>» A—[1 4 2; 5 7 3; 9 1 6; 4 2 8]

A= Define a 4 x 3 matrix & J
1 4 2 -
5 T 3
Ch 1 &
4 2 8
>> B=[6 1; 2 5; 7 3] | Definea 3 x 2 matrix B. |
B —
L] 1
2 5
7 3
>> C=R*B Multiply matrix & by matrix B and assign ﬁ
C = the result to variable C.
28 27 '
65 4 G
98 3z
#e - Trying t ltiply B by &
rying to mu v B by L,
>> D—B*R E’*‘-Eﬁl, ggives 31112-1‘101 5'1?11::'9
?7?? Error using =2 * =

the nmumber of columns 1n
E 1s 2 and the number of
rows 1 o 15 4.

Inmner matrix dimensions must agree.

»> F=[1 3; 5 7]

F =
1 3

> 7 _1 Define two 2 x 2 matrices F and G. |
>> G=[4 2; 1 6] .l - T




4

1

>> F*
ans =
T

27

>> G*F
ans =
14

31

>> AV=[2 5 1]

AV =

2
>> BV=[3;
BV =

3

1

4
>> AVEBV
ans =

15
>> BV=AV
ans =

&

2

a8

>

20
52

26
45

5
1:

15

20

4]

B

Multiphy F*G |

| Multiply G*F |

‘Mote that the answer for G*F is not the
same as the answer for F¥=

" Define a three-element row vector &7 ]

[ Define a three-element columm wvector BV

Multiply LV by BV. The answer 15 a scalar.
(Dot product of two vectors.)

Multiply BV by V. The
AnswWer 1s a 3 » 3 matnx.




oaall Gudhy (4 stiaall ¢ ¢S5 o) Ja

Symbol | Description Symbol |Description
* Multiphication Raght division
Exponentiation Left Division

If two matrices 4 and F are

.'i“_ A 12 A 13 'E]] 'E]: 313
A= |4y Ay 4y, and B = B B, B,
.'531 -'53: -'533 33] 33: 533

then element-by-element nmltiplication and division of the two matrices give:

Ay By A1aBry 4By Ay /By Ayy/Byy Ay3/Bp
A4 *B= |dyBy ApBy dpfy A/B= (4y/By Ay By 4y3/By
A3 By A3pfy 4By A3 /By A3y/ By A3/ B

Element-by-element exponentiation of matrix 4 gives:

(A11)" (412} (dp5)"
A A= I:_-i:l:l'l'l [_I:::IH I.'.l:3|'“

(431)" (437)" (A35)"



>> A=[2 6 3; 5 8 4]

1 4 10
3 2 7
>> A _*B
ang =
2 24 a0
15 16 28
>> C=A_/B
C =
Z2._.0000 1.5000
1.6667 4_ 0000
>> B.*3
ang =
1 b4 1000
27 B 343
>>» A*H
PP Brror usimg ==> *

0.3000
0D.5714

Define a 2 x 3 array R

Define a 2 x 3 amray B. |

Element-by-element mmltrplica- 1
tion of array by B.

| Element-by-element division

of array & by B. The result 1s
assigned to variable C.

Element-by-element exponen-
tiation c-fbaj:[m}r B. The result 15
an array in which each term 1s
the corresponding term m B
raized to the power of 3.

Tryimng to omltiply 2*B gives
an error since B and B cannot
be multiplied according to lin-
ear algebra rules. (The number

Inner matrix dimensions must agree. of colunms in 2 1s not eoual to

the number of rows in B.



M\Aﬂ\ <ala M \

Ca ) Sl
i jhua 4 ghuca L3 zeros(m,n)
g 48 gl LS _ | ones(m,n)
s jualic JS day o d8g0ina b)) Bin ol A8 ghns LAT eve(n)

(1l @JLuu (_.,.uu.lﬂ bl jalie sl i

150 O Al g 4 ghuaa L

rand({m.n)




Magic Square Array ¢ sl g jall 4 ghias

A st i) )3 gaall alie mas ) chuall palie pas ol Ladic & gias 2
3 g st gl 8053 jha o U ) cangy (gl g jal 48 s A 3 magic() A1

J

>> magic(4)
ans =
16 2 3 13
J 11 10 0
9 1 0 12
4 14 15 1



Thank yov
Jor
'i‘hﬂ;va! .t
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512y Aaad) Jleall e 2aell e MATLAB (S i
o Lady lgiallras (amall 4nliis axadl dalal) Gl sdiadll
B (e (e

Example Description Function
>> A=[5 92 4]; 4 shadl el S0 gl assdl Jsha length(A)
== length(A)
ans =

4

== A=[235:157]:
== length(A)
ans =
3
== A=[614012:5196 48 gl aall alal size(A)
8 2]
A =
614012
519682
== giz.g(_;k}
ans =
2 35



== A=[123:456;789]
A=
123
456
789
== vec=diag(A)
vec =
1
S
9

_HMLﬁi}djﬂ'lfpia_.Lﬁmi

diag(A)




s A:[Z 3 5;1 5 —];
== ndims(A)

ans =
2

i3 ghadl dadl e s

ndims(A)

>> A-[23 5157
== munel(A)
s =

6

digiadl palic e I b

numel(A)

== A=[23 515 7];
== transpose(A)
ans =

1
3

fJ‘le

-1

transpose(A)




16 shenl) a3

Leabing o (S dilee anf (8 LI (e danie e Latie
8l o Lkt a5

Example Description Function

== A= randperm(8) Al pie By gaay pualinll i i Slayl randperm(n)
A =

75213648




424 jall 48 gaiaall e Eaanll
A o) ddse capad O Gead) pam (A il e
28 ghan e 33 g2 sall 5 Ll Ua s (38ad ) jalial
e Al oda (38a% MATLAB z<Up ash Aduma
L.,SM‘ palall cﬁjA o Jdda Gl ey Lfﬂ‘j find Hl2¥!
true Lo Ja il 488a% da i () 63

-1 0 1 2 3
>>k = find (abs (x) > 1)
| P
1 2 6 7

>y =x@®

y =
-3 -2 2 3
>>y=x(abs (x) > 1)

F:




(35ac s 3 sac) Liay) 2xall A0LEN b siiadl) & Jasy o)) find Sla¥) gakain s

>A=[123;456;789]

find (A > 6)

1

2

3

O5Se Can A2) el aaily (53 see Anio ) (andl 13 48 dhaall g (g fAdaadle
138 5 HAY) 3 gaall 40y 3 gae i il



Example Description Function
== A=[5 9 2 4]; s ddatddl leall s gl alal mean(A)
== mean(A) 3 gae JSI Jonall 48 ghiall
ans =
g

== A=[§924116111]: Alla dgdaidl & paic S max(A)
== C=max(A) paie 3Slo palic daie i 4l ghias
C= 3 gac (S
11
== [d.n]=max(A)




ans =
9

—= A=[5 9 2 4]; s ganidl jalic § sane e
== sun(A) K palic § sene 4d il
ans = 3 gac

20

== A=[123:452:709]:
== sum(A)
ANS =

12 7 14




== A=[59 2 4]: A dadall o jlarall Al adyl std(A)
== std(A)
ANs =
2.9439

== A=[2 4; 3 5]: R pliadian i det(A)
== det(A)
ans =

-2

== a=[1 2 3]: Eeaadl dot(a.b)
== 1b=[3 4 5];
== dot(a.b)
ans =

26

== a=[13 2]: el padi cross(a.b)
==b=[2 4 1]:
== cross{a,b)
Ans =

-5 3 -2

== A=[2-21;32-1;2-32]; 8 shiaadl o gSaa mv(A)
== Inv(A)
ANS =

0.2000 0.2000 0
-1.6000 0.4000 1.0000
-2.6000 0.4000 2.0000

28 A =[123;:452; 70 9] “Lsbaadl (2 da (8 pals dal ads Aada alg (1 /03
28 shiaall (2 pals  jhual

A A8 shaall o jlaall b iy g i 01§ il | i ol 2 (2

48 sliaall alic &qllﬁ;,.a_gii E@f&l&iﬂéﬁ&z ==l (3

A A2 gbaall ddaag o Saall wa (4



i gh el pe Jalaill de 5 podall p cils i call A5 50 I Al MATLAB mabi g o
i skl dleas ap Cls sl Jaladl Ciplany (il lalia 55

==A=[1 2 3:4 5 6.7 & 9]

A=
1 2 3
4 5 6
7 8 9
== flipud (A) up-down ool da i ol il
ane =
7 8 9
4 53 6
1 2 3
== fliplr (A) left-right «a7l 45,5l s
ane =



(lower) ol bl ¢ a0l patiai



b LS e bVl andin 48 sicaall 3513 dadl) Ay o
- JUL)

>>A=[123;452;7009];
>> eig(A)
ans =

-1.7522

11.6633

5.0889

trace ¥l aadius bl hadll ¢ gena luadsg

>> trace(A)
ans =

15



igslall Aal 3y O 5o

malie i jisale) Jlo Jont Cun 28 shmall jealial(dy yilall) dalall da) 3Y) J) s
23 giadl
Circshift (Name of array, change of diminution)

9!

Circshift (Name of array, [ diminutionl, diminution2])

>>a=[123;456;789]; %theoriginalarraya (Ja3U4s) V)
>> b = circshift(a,1) % circular shift first dimension values down by 1.
b =

I N
K N 0o
O W O



>> b = circshift(a,-1)

A= da) Y
b =
4 5 6
7 8 9
1 2 3

>> ¢ = circshift(a,[1, -1]); % circular shift first dimension values % down
by 1 % and second dimension values to the left % by 1.

C =
DA siay J ¥ 3 gand)

Jd3) sman Y iuall g

Ul N
D W ©
I Y



>>

>>

C

circshift(a,[1 ,1])

d3) sy JAY) 3 gand)

do) s SAY) diuall g

7 8
1 2
4 5

circshift(a, [0 ,1])
1y sy pAY) 3 gl

0 s LS iy Gighall £ 5a

1 2
4 5
7 8

[ g i

, ddos | ]
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Cni Lo o U TS g e Jeaill 1
33U ) (script file) M-File =il ald) & &yl
48l muag b dIXy Command window Y
script file (2 s 3l zeali jll 28w amy Gl A4l deliha




input statements JB¥Y) Jaa




input 4edaill

S il ey Gl B il i padis 4
;ﬁlﬂ\¢\JqJ ng*yQY\Slﬂjcéé\@égéjﬁ

variable name =input(‘'‘string with a message that

is displayed in the Command Window’)

variable_name = input(‘prompt message’,’s’)



40 ye ) claw¥l g alae ) JWa) /e o

B Editor - C\Us

|- marwah.m 0 | 4 |

ersmarocy, Documentsy PALATLABY  marnwah.m

— I:-L=j_n]:_:n._11:. (["enter ®x: ") EFFHFok<HOPTS>

—

1
2 — z=input ("enter =", "s") EF#ok<HOPTS=>
3

Cormimand Window

3D MNew to MATLAB? Watch this Video, see Examples, or read Ge

= martwalk
=emter =:5

Lo

enter Z=sarah

sarah



Al g Gl giiaall § Glgatall Ciy el nput alasicl (Sa;
die 4 Je ol Alu 1 ) sedn amy 7 siall o pall (g g8l a0

JRaY! drua At




inputdlg

variable name = inputdlg (prompt, digTitle, lineNo, def)

Variable_name=inputdlg(prompt,digTitle)




inputdlg

prompt = {'enter x'};

def = {'20'}:

dlgTitle = Input for my program”;

lineNo = 1; % 4asdl ;s se
answer = mnputdlg (prompt. dlgTitle, lineNo, def);

x = str2num (answer {1}): % 22 aa Jaadll s 3 pum ) string Ji a3
t\,ﬂ-ﬂ‘ CEPEREVS R Py LE DY

J Input for my progrom

K | Concel |

i3






disp dasl=ill

M\H\quw\ﬂbu’aﬂf‘ﬁ\\&edﬁug .
e 4 el G lall (yia gal W) 13 aadtin LS
Y AS G Hla .

SN

>>abc =[5 9 1; 7 2 4]1; [ A 2 x 3 array 15 assigned to variable zbc. ﬁ
>> disp(abe) L The disp command 15 used to display the abc array. J

5 9 1
7 2 - 4

[ The array 1s displayed without i1ts name. ]

== disp('The problem has no sclution. ') r : :
F P The di=p command 1s used}

to display a message.
The proklem has no solution. . P’ay g

>




doada o

)y Sl g gh QI Al disp Db sine 5 O ey o
(h\j@b&ﬁ%dﬂ)ob‘ﬁ\w\w

S g s D Aad e S disp Dl sine S Al (A
2 il mand W () a1 Alead) pania Caliag
[] e o8

>>sum=9.8;
>> disp(['sum=',num2str(sum)]);
sum=9.8




s JS& e il aje disp J (Say LS

yr=[1984 1986 1988 1990 1992 19954 1996]; The population data is ]
pop=[127 130 136 145 158 178 211]: entered in fwo row vectors.
tableYP(: ,1)=yr'; | vr is entered as the first column in the array table¥YP |
tablexP(: ,Ell=pl::p’;[ pop 1s entered as the second column in the array tablE‘I’P]
disp (' YEAR POPULATION') | Display heading (first line). |
disp("' (MILLIONS) ") | Display heading (second line) |
disp(" ") | Display an empty line_|
disp (tableYP) | Display the array table¥P. |
»>» PopTable

YEAR POPULATION [ Headings are displayed. ]

(MILLIONS)
[ﬂm empty line is displayed. J

1584 127

1986 130

1588 136 | The table¥P array is displayed. |

1990 145

1992 158

1594 178

1996 211



msgbox

Command Window

1) Mew to MATLAB? Watch this Video, see Examuoles. or read Gettina Started,

| - w |

ok,

>>» msgbox('ok',"'x")

fxr =

Ok




fprintf
ai}AqA\SJLngEﬂvﬁ§Y\LJZLyJ_JAEH‘SA elﬁiug€3

fprintf(‘text typed in as a string’)
[

fprintf ('The problem, as entered, has no solution.\nPlease
check the input data.')

The problem, as entered, has no solution.
Please check the input data.

A a8 A0 3 jlall a al padiud \n 3



fprintf

o Lo .- " . - . . R EON. /
Ap0c dad g 4 ja ) Ble 7z 93 je (a el aadiuied

fprintf('text as string % 6.3f additional text', variable_name)

ng.uc e e L?uu [ o
5 oWl axy il yall 3 5 4Kl () jall 22 6/ 6.3 4%
oaill Jala a8l Jaa) 4 o Al Il ) Tdddle el



fprintf

x=1:5;
y=sqrt(x);
T=[x; y]
fprintf('If the number is: %i, its square root is: %f\n',T)

1.0000 2.0000 3.0000 4.0000 5.0000
1.0000 1.4142 1.7321 2.0000 2.2361

If the number is: 1, its square root is: 1.000000
If the number is: 2, its square root is: 1.414214
If the number is: 3, its square root is: 1.732051
If the number is: 4, its square root is: 2.000000
If the number is: 5, its square root is: 2.236068




gl sl
%c Al ey
%d S (i
%e Jams o) 3 ppa (o al alasiuly (oul) (Al o
(1.709098e+001 « Juall
%f ¢ JUd) Jaas e ) Al ddasil] oy 405
.(17.090980
%i Znaa A
%0 (bl (g g
%X e ula g g
%5 (S0 (R




s o°

(s
Aladl Ly ey Al ) sl 5ol Aa a2 ¢ Twie 30l Zlll 3l a4y e

Adll) 4831l Lnbua o ~ L T ja pdll
* Tywc = 35.74 + 0.6215T — 35.75V %16 + 0.4275TV V16

i Szl de su AV 5(F) Culgisgdll dla allbis )l all da o AT Cus
O pasiadll (o guali ) ey «oamd il 8 i 5S)(mi/h) el /
Al )l el il i ¢ ZI AV T a8
5 s da Al aXX o) Cus " The wind chill temperature is:XX "
g e il A e 2Ll a0
.V=42mi/hs T=30F e oS JBaY) haw /Adaadla




Cr

colad ) Q) A A8 )y delday Al meli S e
Al ge Jsts A o bl aid b dlendl < il
DA ey Aadll anl Aol ae Jsaall 3aee Y (o glie
u\);a}ﬂj .L:.ujmd\ — G‘.Au —ala @ ca\.\).\ &_uS\ °
Gilaoal aae L)) ALYl el ) Aald Jas gl 5 (5 jlnall
(B al) prdiad) e melind) allay Cum Aailill b
Clony @I day il agiy Aaie jealin€ cilajall JAaY
J.\s.mes JA‘)Y‘ odsh@@hﬂ\ U e (‘;JJJMJLLAM L_a\_mﬁ\
94,78 61 ,65 ,81]4dll cila il Jadly el

175,49,82,95,77,76, 65,80
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iuilaiall g 4 el 5 lalaal

Aid False s . 1dedll s sf Maie a3d Trye Wl o5S
0 el o
leadl 6 (A Jaad) f (38a8] andindd [ dgalaial) G lilaall e

sTrue ds & 1 s st =36 (5 5S 5 True ) False
False 4~ 50



Relational Operators 4:&idkall G llalll

ua gl EJJM'. Jalas
o sl
S sy 5l il —
o S
S sb Ji _)--‘S"| >=
(= oo b jaa S1) 5 slusall 5,05 —
3 glsall a2e 3 LG -

Alall 38 S35 62 e 230 5 48 sime (3 A jlial] ) camall (puii Log]
L A )aall Caad Al 48 gaiaall ana gty 4230



Command Window

@ MNew to MATLAE? Watch this Video, see Examples, or read Getting Started.

=> 3>5 200 St 3 da paims Lia ¥

ang =

> 0 §La= il F__HJ-E' O S S 103 :;;E.'I_.l_ %
5

»rx X=2<6 6 G0 pRel 2 Ja pais Laal Lia %

PP dmaman dalsY o | _.l.';:r_l-_h_l' Olsa 6 G0 fel 2 57y %
»» a=3; b=5;

> ¥= a< b da Sle Bylaxdl SOolS 13 b 0 3fwl 8 dasd Ja paimy Lia%

f{ = 0 aolidl Geso il pd S SLS 131 1 25001 Heso %r



L =

1 2
B =

8 7
»» Cc=A>4
o=

0 0

=49 -1
3 4
& 5
0 0

> 0 aslidta ¥y 1 a5l

> d=(A==B)
d =

0 0
P 0 45yLaall

fr e [

i_}l.-l. I

g

O350 4 G S0 B 40l 8 byall Gi@ad ais 4

by |

& 7 8 5
3 2 1 0
1 1 1 1

|:'|.1'-‘1 d_i.?r_l._l |:-._|_! Juai X jaaie

i%



Command Window

(3) New to MATLAB? Watch this Video, see Examples, or read Getting Started,

>> F=(T<10)+(7>8)+(5%3==60/4)

22 1 Laani 01 10 o il T gl Sy Laas¥l a3l g 00 oy zas pdopel JLiadl 30%

-

22 1 jLassdl a5l HaSad saluis pudphll 2505 SQILLT aadly 0 gafo jLaas¥l 2505 8 a0 puSIT 5%
:=-:=EE.;;:_..J__.FL,;_{_EJ$_UJ_A__;_¢H! 2ol ad pamy dhaic %
»» A=[2 4 8;3 2 137 6 4]

h:

> B=A<=2

f{,}} 0 gpso polidld Ty 1 pasy jLasdl 2305 pld 2 gl 3l el jaic S0 byall sy Ladic B>¥5 edel JUiall 3 %|'




mrie A ddeal) #) AN ALY aadiul = e
150&6j3;4m" A (pheaia C).HZJJ&.AM@UO\ .
J.u.u\_\] @.Lu.d\ AA.LA]\ eda.u.uj c@.k.\.d\ Mb =29
‘\A”‘ CnlS er\ )m\_\:d\ cﬁ}A ).w.\b L.?"uﬁ J;\ ‘\A_\.A

Ml Al 3 LS 1 (5 sl L i




Command Window

(i) New to MATLAB? Watch this Video, see Examples, or read Getting Started.

>»> r=[2 478013 ]

T d=liall dayx3%

»> B=r<=4 9

-

L=
1 1 0 0 1 1 1
> 4 gyles gl Aol gaie gy S 1 S Bodhin dads audss po oedsl BaUE
>> B=r(A) B dnis flasly TFdzaiall 8 digixl B pusiws Jdpw Lia %
B =
2 4 0 1 3

d=ia il B>

%



Logical Operators 4ahiall C3lladll

Jaasil) s @JM‘ JaladlS UA.L-;.\.A\ el ARE PN
L_MM\} MJJ:J\ L_m\_\.qS]\ Oy

e pandl 8 GV Bae A 58 Jahidl Jaladl e

. False (ha L (il s True —iba

Gia gl AR Jalaal) Analy N Gl il
(5) AND &
() OR |
() NOT ~




[AdiaY)

>> 3&7 '3AND 7|
ans = | 3 and 7 are both true (nonzero), so the outcome is 1. |
1
>> a=5|0 |_5 OR 0 (assign to variable a). |
a = | 1is assigned to a since at least one number is true (nonzero). |
1
>> ~25 [ NOT 25. |
ans = The cutcome is 0 since 25 13 true
0 (nonzero) and the opposite 15 false.

>> £=25% ((12&0)+(~0)+(0]5)) | Using logical operators in a math expression |
t —_—

50 Define two vec-

»>» x=[9 3 0 11 0 15]; yv=[2 0 13 -11 0 4]: tors x and v.
>> xX&Y The outcome i1s a vector with 1 1n every position where
ans = both x and v are true (nonzero elements), and Os otherwise.

1 1 0 1
>» z=X|¥ T]:L-E outcome 1s a vector with 1 in every position where either
= = or both ®x and v are tiue (nonzero elements), and Os otherwise.

1 1 1 1 0 1

The owtcome is a vector with 0 in every posifion where

>3~ (X+V) the vector x + v 1s troe (nonzero elements), and 1 n
ans — every position where x + vy 1s false (zero elements).

0 0 D 1 1 0



daakaiall Bllaal) WS Jias sl J gasl

Input Output
A B A&B AB ~A ~B
0 0 0 0 1 l
0 l 0 l l 0
l 0 0 l 0 l
l l l l 0 0




A_asu;}(\ EJ.CG

A8y (5 gia

Jalaali

s

()oY

(A A5 () g2

(~) Sl 3L

(/<) Tl (( * ) oyl

(-) g Bls «(+) e

(;) Ufaalaiall (ilasill Jalas

(>) o S (=) s ) sraal g (<) (e raal
(~=) 3 glasall axe (=) B glasall ¢(>=)cs sbaay 5l e S

AND (&) Akl o]

Y

OR (]) kil Jalacd




and (A, B) equvaleatto A¢B
or(A,B) equvaleattod|B
not(A)  equvalentto -

@) New to MATLAB? Watch this Vide¢

>> X=—4:y=5;
>> —5<x<-—-1

ans =

o

>> —5<x & x<-1

ans =

>> ~(vy<7)

ans =

O
> o Kiemg) | (E<=21))
ans =

O

>> ~ (y>=8) | (x<-1)



Conditional statement 4k &l Jasll

el Y1 e Ao seme 2dT MATLAB J zeassi el ) A
True . QLJM\ uadll ol ddda 3l Jeall i
Ol False 4aaaill ¢S 13 L) aeh (agw YY) ()4
e-“LS‘ \.é»m_ue.uy uju&ﬂ\d@\@uwd\ ) g
oJ\_\.’J\ @.u Lfd‘ JA‘)Y‘ J.\S.\.\] d\&uyu oJ\A’J‘ L;EM
.end

dnka pal dleal) U dapa o

if conditional expression consisting of relational and/or logical operators.




LM\J@MJ\S&:\(:A& Sllia e

v'if-end
v'if-else-end
v'if-elseif-else end



if-end 4l

Alaal) ot Al el o) Ao gana 283 A drpall o8 & o
bad ) True Ada il Alaadl dais ClS 13 f 4uda )
‘M.L:J.uj\ M\Mt_u\s ‘J\JA‘)Y\ uAé\.chMM 54
end ai Sl el ) Ao gane 243 23 (4 9 False

SuoY) Ol end s if el Ada ,dll Alaad) US die



Flowchart

Commands |

'

»l end

oooooooo




if-else-end 4l

Flowchart
l ~ MATLAB program.
if conditional expression
if
Yalue statement ) = Group 1 of
"""" MATLAB commands
True else
Y v .
Commands Commands| = Group 2 of
group 2 group 1 MATILAB commands
end
»' end
MATLAB program.




if-elseif-else-end 4aall

Flowchart

Group 1 of
MATLAB commands.

| Group 2 of
MATLAEB commands.




[0 o Jasadl X 4add ZilS 13 ok Aslulal el (V) JBe
- X = mput('enter x:"):
if x=—=10
msgbox ('ok', result');
N0 42lls Wy =10 dad S8 131 ok delalal gl p () Joe
X = input(‘enter x."):
if x=— 10
msgbox (‘'ok'. "result’);
else
msgbox ('no', ‘result'):

end:



delab g x 2ae Bel il zab e o(Y) Jha
x=1 s 1
x=2 uilS 13l 2
=3 cul€ 13 3

X = input('enter x:'):
if x=—1
disp ('1').
elseif x =2
disp ('2')
else
disp (‘3"

end:



switch-case dea

DS aladial e Talaie ) el o) 26w lde (s g5y Ladic o
switch- alaaiul Jeull (e ladie L Jaw sl oS HLadY
dalall apall L Al case

"""" MATLAB program_

switch switch expression
case valuel

Group 1 of commands.

Group 2 of commands.

Group 3 of commands.




switch-case deall &Y

hsd ol oY) daws 20 gl Alla g S il CulS 1a) 6

5 e A er\ el Y e e.\.\s d.\Ua.u s 2a i (,J |3 o3e
otherwise J!

c_u.\ L.rd‘ Ja\jY\ J.\S.u dla L.sﬁ end 3)\4.9 L.sJ‘ d\s.uY\ e—“‘:’
otherwise 3 ke sl case 5 e

OsSas dad e S lecase dobe saiad o) (S

{valuel, value2, value3,....}



Aol x 2 del ) il dals geali e ) (1) Jla
594 5 3 5 251 (daaadl) e g8l aadl HIS 1A '] S
10 50 9 (J3adll) e 5 all 22ell IS 1A 19 100
S e (Jaaall) e 5 sl 2aadl IS 1A 'this 1s impossible’
x = mput('enter x:');
switch x
case 11,2, 3.4, 5}
disp ('1..5").
case {9, 10}
disp ('9..10"v
otherwise
disp ('this 1s impossible')y

end



(NS s M dad lea s n 220 Bel il Cle il gmals s 3S1 1(¥) Jlia
n= 4ed Sl 15 me—n+3

n—2 “4d Suls 13 m="alt"

n=3 4dad SulS 13 memagic(n)

el €e Janall sl S 13 eppor delebs

cle:

clear:
n = input('enter n:");
switch n
case {0} JRraal g el LSl e peme il B Jpy OS5 ) S8
m=mn+3;
case {2}
m = "al1";
case {3}
m = magic (n);
otherwise
disp (‘error’);
end:
disp (m);



H.W

\ALMJJQL;AJQUMMJS&_\SLJJL_\\JJSA \.L.u_\\dg_a\_dﬁ\&d;\@/’]u
145 ol

143 PN e-“‘é

140 ey ale aud

141 slall o gle andd

138 Giluialy ) aud

z A Glas g aae JRa) die o gllaal) andl) anl) dcliday & g8l seals S|

x 2221 \/x ssin(x), cos(x) ad luay a8 duida (LAY zald yy iS22
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Loops 4 ) Sill cilalall

DSl g Ol sall Jas (e 4e gane MATLAB ) Jé 9
(R
(e 4o sene ol 2l el 28 Al : for-end  4dls -1

o] (Bt | e
variable. / .
| for 1 }f:a:t - ——~‘IhE1'alueafk }
in the last pass.
........ A sroup of
"""" MATLAB commands.




for-end 4l _Sill dalall e cillaaBl

(m,n,i,j and k) oS35 for 3ole (A juaiall e—wls 8 gall oda aal alasiil (Say
for-end oke u 3 ) sassll f\j‘ﬁ\b.\é.u k=f Ladie ¥ 5 ,all o
Azl g k=t Laic LS\ for ajhaj aﬁ‘}” ajjﬂ\ djmjj\ M\.:J J\)SJ\ ‘\ALQ.C )A.h.a:.\j
@.uu_d\ f\j‘ﬂ\ﬂ.\ﬁ.\ﬂd&.\.\&\e&mu foroJ\_\s LA\ JMY‘HJYMJ\)S.\M;J;\

.end 3 ke

Al s 830 liia ¢S5 o (S

1 é}\.uu oJ\JﬁA 8] LT"" BJQJ\ J‘JB.A S ?j 3

Jadd 3aa) ¢ 3 ye dat Aalad) W f=t cwil< 1A

2w Y 4y ) Sl dalad) ld s<Q 5 f<t ) >0 s>t <ls
DAl e ga L s for 5 e (i piall il o i 3 (s >
k=[4 8 -9 0 7]

dalal) Jala k 4 iy yati Bale) W) gy B

end « 18 O aaofor 3)ke JS 3

33 ¢ gall f‘jy‘wmw)m‘ M‘@hu‘u‘)\)ﬂ\&d;h\)kﬂ\iﬂ >
) T

\7\7

YV VYV



s

for k=1:3:10

x = k*2

end
~.....~S‘ l. \j

> X =

1
X =

16
1 —

49
X =

100



daliciall & a3 ra | (] —ala for...end 4ala e\d';lub.

(1)’%
N=20 5 n=4 J =il mali pll 23 YL .

n=input('Enter the mmber of terms ' );

5=0; Sefting the sumfo zeo|

for k=1:n ] .| Ineach pass one element of the
for-end| | senes 15 caloulated and 15 added
- _q1 AL Al .
AL - Joop. to the sum of the elements from
the previous passes.

end

fprintf('The sum of the series 1s: &' &)



for k=1:n Every time k

for h=1:m increases by 1, the “ 8, o - - w {
........ Koo wsedioopercenes | AJA) Y14l MJ\)SJ\ Cilalall
........ &S Loop m times. Overall, the .
commands. | loop
........ group of commands
are executed noxm

end times.

s o s, Jaslls &) S ) JAlas o) oS
oAl aak b Jea a5l &) 3

b, Jeadl Ayl Sl Al e same sae Glllia s
end @ (¢ 4SS ddls S

Lty Fam il )3l ekl V1 d Sl didall G e
a1 5l Gl 2,0

L_i\JjJ s ;\.@.\4\ u.\AJ 6)}&]\ LAJ 6)53 J.\s.u]\ 4\_\1.4.:: At
end 20 WL el oY) duawy Ol MJ\)SA\ Calalall



G pall J g Acbilal ai cala & el py ES) o
for1=1: 10
for;j=1:10
mult (1, 1) =1 *j;
end
end

disp (nult)



O Cus (nxm) 48 siae 2l 61l el iiSI / Jlia o
Jidi 48 ghiaall palic 8L caall 48 ) Jiad J Y

n=input ('Enter the number of rows '):;
m=input ('Enter the number of columns ')

A=[1: [Deﬁn&anemptymatrixl—"-_]
for k=1:n [ Start of the first for-end lmp.]
for h=1:m | Start of the second for-=nd loop. |
if k=1 [ Start of the conditional statement]
Alk,h)=h: | Assign values to the elements of the first row. |

elseif h=—1
Ak, ,h)=k; [ Assign values to the elements of the first column. ]

else

A(k,h)=A(k,h-1)+A(k-1,h) ; | Assign values to other elements.|

end | end of the if statement. |
end | end of the nested for-end loop. |

end [ end of the first for-end lu-crp.]
A

OJLUU

L4

[l e



»> Chapé expB
Enter the number of rows 4

Enter the number of columns 5

A

e Lo B3 =

e L

14
23

4
11

23
a0

3
16

41
91

Al By o



while-end 4als

écu\ﬂ\wdmﬁamu\.u;uum Wh||eL5);_\ .
CSang Gl il e um\m TAkY u_d\ for 4aall y&c
L;\_JMM\AMM\ a&d&@m}\

while conditional expression

A group of
MATLAB commands.

daaiill Loyl daat aie o pd geahy 3 )ledl JoY ol e

Lﬁ\ dalall (s DJP)AM J.A\j‘}!\ m.u e;.\ 1 UJSJ

LS\ L}J\ (aan pac cand dalanll 28 yaludg end  swhile
end 2xle el oY1 il JEsy) A O



x=1

while x<=15

X=2%x

end

16

[ Initial value of x 15 1.|
The next command 1s executed only if x <= 15. ]
| In each pass x doubles. |

Imitial value of :-:.|

In each pass x doubles. |

When x = 16, the conditional expression in the
while command 15 false and the looping stops.

Aanil) JasY



clc
clear
x=20;
while x>5
Xx=x+1
1f x>15
break
end
disp (x)
end

Jlia



e
bl 222l 2ie el gl X Aaciall ypalic dclulal Ga\_'u,a iy
/)

clc

clear

x=[4 51 3 -2 10 4],

i=length (x);

1=1;

while (x(1)>0)
disp (x (1))
1=1+1;
1f 1<0

break

end

end



LN
(278 s while s for 4dls :‘,;J,F"H A gild Ayl llia
(while <3S 5 for &) 5l (e z sall ol bl 3ia5 Jla 4)

s=10; s=0;
for1=1:100 x=1:
s=5+1; while x < 100
1if s =230 s=s5+x:
break: if s =250
end; break;
end; end;
x=x+3;
end;
2 =Y 2AY
1=22 x =31
s =233 s =286
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v=[5,6,20,-6,12,-7,0,8,-3,17,-7,4,16]
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e Wl oS 13y Crge audl O 131 (positive)
msgbox e mUWl 055y (negative)
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Sl g JA 22 Jyadl MATLAB 4sly el i€l o
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safa.m +
— n = input ('enter n:');
— m = input ('enter m:');
— for 1 = 1: n
for Jj = 1: m

— result (1, j) = 1 ™ J:
— end,
— end,

o I I T I A R I
I

— disp(result);
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x=[123577.58 10]; [ lie o
y=[26.5775.5468];

plot(x,y) sl e Sl ladl) el o

Lall o sas ¢ GuoY) ol

.=l yiaYy)
e L = )
TE S| kRO DE 430 *EDS &0 ;

| daua Jleplot ¥ sy e

il ' S ao HLna 4.8l

1 | Lall 5 waail Lealadil

1 2 3 4 5 6 i 8 o 10 ‘ Q_I\.AM‘ &ﬁj u‘}j‘j ’i j

JSal 5O o sSs ¢ ol Ll
- il

plot(x,y,’line specifiers’,’PropertyName’,PropertyValue)




* Line Specifiers:
O ¢ g daad maatl Lealadin (S g 4 )lid) Jadll Cifaasa o
Cilaasa (4o sl Giladlal) cilS 13)) Qladlall g 55 5 ol
LoD LAl e
Sl Jadll & il Aalall ga i e

Line Style Specifier Line Style Specifier
solid (default) - dotted

dashed -- dash-dot




Line Color Specifier Line Color Specifier
red r magenta m
green g yellow y
blue b black k
cvan c white W

Marker Type Specifier Marker Type Specifier
plus sign + square S
circle O diamond d
asterisk * five-pointed star D
point . six-pointed star h
CIOSS X triangle (pointed left) <
triangle (pointed up) ~ triangle (pointed right) >
triangle (pointed down) s




1994 .} 1988 c1e 3 i classa il I J 2l ey [l

Year 1988 | 1989 | 1990 | 1991 | 1992 | 1993 | 1994
Sal:?s | 8 12 20 22 18 24 27
(millions)
yr=[1988:1:1994];
sle=[8 12 20 22 18 24 27];
plot(yr,sle,'--r*','linewidth’,2,'markersize’,12)
!‘ Figu_res _— Figure 1 : E]@
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a5 e

e
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15 | - .

10F -~ i

1 1 1 1 1
1989 1990 1991 1992 1993




Plot of a function 4l au

axiiual zlisg cplot e alatiuly Ao sy Jal (e o
A agle ANAl any ataw A Jlaall Y glx a ania LaSY
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Al av Jlplot ¥ alasinl Jh ¢ JlieS
y = 3.579%cos(6x) for-2<x< 4
GA‘AJJMLJLQ&MJLJM Y (‘“JJ&JM C.A\AJ.J\J.@_E.\
‘_;\_d\ G.a.d\
x=[-2:0.01:4];
y=3.5.~(-0.5*x).*cos(6*x);
pIOt(le) (B Figures - Figure 1 M= %)

File Edit WView Insert Tools Debug Desktop Window Help

Al=1" YRR i“?@+f = | O E 0O BHOBE SO

Lt fa i o = ha %)
1 1 1 1




fplot (Sl s 1) Sl

dlall saasall 3 gasll dxpa 25 g ae DAlifplot eV aw y o

fplot(¢function’ limits,‘line specifiers’)

X[Xmin,Xmax] )l Hlaass (p paies 4ala e 5 5le|imits o

osaall 250 ox Glai dasy  palie Am )l Lk
y[Xmin,Xmax,ymin,ymax]



A vy o Jae e o
y =x*+4sin(2x) —1 , for-3<x<3
fplot alasiul,
fplot('x*2+4*sin(2*x)-1',[-3 3])

Figure 1 — - >
File Edit Wieww Insert Tools Desktop Window Help ™
N bl | k| RSN IODE - || 0O E 1y
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plot(x,y,u,v,t,h)

osaall e yvh 5 (B ) sl e ut asiall
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y = 3x3 — 26x + 10

—2<Xx<4 ) Sus o

[ e

y' = 9x2% — 26 : Ul 1Y/ déiiall

y'' =18 ; Ul Ll déiiiall
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b MATLAB

#" Editor - C:\Users\maroo\Documents\MATLAB\marwah.m n Figure 1 - N
| marwah.m }f| + | . L :
— : File Edit View Inset Tools Desktop Window Help
1
2-  x=[-2:0.01:4); NEde| b ARO9R AL E(0H| 0D
3= y=3*x,"3-20¥x+6;
§- yd=9+x,"2-26; 120 . . . T
9= ydd=18%x; 100
6 - plot(x,y,"'-bB' %, vd, "--r', %, ydd, " : k")
! 80
g
60
40
20
Command Window 0
(1) New to MATLAB? Watch this Video, see Examples, or read Getting Sta 20
»> marwah
_40 ] ] ] | ]
B> 2 1 0 1 2 3 4




Sl ) aladinly  Alud) s )l (G

folot <Y i plot Y 2 (Guadill <l eyl e“ﬁ“‘e% .
o Aalisal) gt yal

vlabel J2¥1 5 xlabel =¥

Gllly AVl dpans cllacy JV) Sl aadiing

xlabel(‘text as string’)
ylabel(‘text as string’)



Sl au U ) gie oy Cus ctitle O sl Dl 3>

title(“text as string’)

o Adla) Sl >

text(x,y, ‘text as string’)

Legend(‘textl’,text2’/text3’,......, pos)

g 5 A gl Al wdse naail 85 8 2 pos



plot3 =Y

Al L?a\_u plot w u.nsa 4.5 JL:.\Y‘ Lfa)u]\ ?’“‘Jﬂ em

plot3 (x1, y1, z1, s1, X2, y2, 72, s2,...);

[

t = linspace (0, 10 * pi, 100);
plot3 (sin (t), cos (t), t);
xlabel ('sin (t)');

ylabel (‘cos (t)');
zlabel ('t');

text (0, 0, O, 'origin');
grid on

AN e.u)j grid on ¥ aladiul 25 La



" Editar - C\Users\maroo'Documents\MATLAB \marwah.m* n Figure 1 - O

marwah.m + — | File Edit View Inset Tools Desktop Window Help

- t = linspace (0, 10 * pi, 100);

- plot3 (sin (t), cos (t), t): Udde F|AKROELHL- S 08 el

- xlabel ('=in (t)"):
ylabel ('cos (t)'):

= zlabel ('t');

- text (0, 0, 0, 'origin'};
- grid on

"

o =1 & A = L B
|
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bﬁ LS surf V! e\diluab. d=d) oIl laliwll e =t
LA JEa

[Xy z] = peaks (30);
surf (X, y, 2);
Xlabel (*x-axis");

ylabel ("y-axis');
zlabel ('z-axis');
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Fnadigh) JISEY) ans )}l

bar Jla) o

vertical bar aw A padiuy o

B Figure 1 — O X b
File Edit View Insert Tools Desktop Window Help E ar(x’Y)

Ddde | RQAODEL- 2 |0EH =D /du.n

30

yr=[1988:1994];

sle=[8 12 20 22 18 24 27];
bar(yr,sle,'r")
xlabel('Year')
ylabel('Sales (Millions)')

1988 1989 1990 1991 1992 1993 1994
Year



Zavigh) JISEY) an )l 3l

barh oY) «

~ o~ Horizontal Bar sl aa35us

File Edit View Inset Tools Desktop Window Help

NEde| RN OUDEL- |2 0| a0
= . barh(x,y)

. yr=[1988:1994];
e sle=[8 12 20 22 18 24 27];
- barh(yr,sle)

- xlabel('Sales (Millions)')

ylabel('Year')

1 1 1 1 1
0 5 10 14 20 25 30
Sales (Millions)



<) Figure No. 1
File Edit Wew Insert Tools ‘Window Help
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280+

200

180
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CEX

hist ) o

histogram aw ! padiuy e

Xx=-2.9:0.1: 2.9;
y =randn (10000, 1);
hist (y, x);
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Bl g | - o X pie chart ?‘“‘Jj ?M J
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grd=[11 18 26 9 5];

pie(grd)
title('Class Grades')

26%
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x = linspace (0, 2 * pi, 30); JUia
y = Sin (X)I Bl Figure 1 - O

2 = cos (x); LTI TS

a =2 *sin (x).* cos (x); _ran _ Fan

b =sin (x) ./ (cos (x) + eps); o.s/ 05

subplot (2, 2, 1); UZ U:

plot (x, y); axis ([0 2 * pi -1 1]); title ('Figurel'); _;U . _;U N
subplot (2, 2, 2); _ rem e
plot (x, z); axis ([0 2 * pi -1 1]); title ('Figure2’); ns/ 0

subplot (2, 2, 3); “ “

plot (x, a); axis ([0 2 * pi -1 1]); title ('Figure3'); _njn v\ ;ZU —

subplot (2, 2, 4);
plot (x, b); axis ([0 2 * pi -20 20]); title ('Figured’);

Aag Y1 Al & gau )l BSE) iU (Sl oNle ) 39S ALUS a0 [y pal
(&\54\949\9;5\934434.)\)\) s AY ol 3aal g




4rt G 0 e sin(x) A syl

m) < x <4m O L e_x//?vsin(x) dlall syl 2
Ul sie el s label

Al Jisall &6 aw )l MATLAB (& b «iS) 3
[0,211] 53l (yauia Sin(x), Sin(x-0.25), Sin(x-0.5)

Alall e (54
) f(x)=(x+1)(x—2)(2x —0.25) —e”*

—3 < x 358l Gam Al a5 0 < x < 35l e
<6



f(x) a1 a )l fplot plasiuly |6

—20 < x < 30 58l e = 2500, 4’C)Scos(élx)

a5 an (b Leifida s f(x) = cosx sin(2x) Al s ) 7
dms.m.ia;djﬂu)&-r[<x<r[u u.mxdtngﬂ

2
e, —A<x<3 0 dus ) = 2250 Q) 8
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